
 1,25m  0,10m 

 0,11m 

 1,50m 

 1
,5

0m
 

 1
,5

0m
 

 1,50m 

Item Description Doc. ID Qty

30 Mount 130° 8067813 1
29 Mount 120° 8067810 1
28 Distance for cover cap 

M6 8005953 8
27 Lid for Cover cap M6 8005952 66
26 Nut, Fujilok-M6-8-RingA2 8008794 66
25 Washer, Bolt cap 

6.4x14x1.6-ISO4759-3-C 8008848 66

24 Screw, ISO8677-M6x40-8.8 8039273 8
23 Cover cap M6 8005951 66
22 Moon 8029520 1
21 Star 8028948 1
20 Bug 8028950 1

19 Screw, thr-cutt DuroPT-
5x10-WN1452-St 8008678 9

18 Screw, ISO8677-M6x30-8.8 8039271 2
17 Screw, ISO8677-M6x25-8.8 8008566 46
16 Screw, ISO8677-M6x20-8.8 8039270 10
15 Fence 8066542 1
14 Stone 8066535 2
13 Bench 8066536 2
12 Butterfly 8028946 2
11 Mailbox 8066543 1
10 Bush 8066534 2
9 Flower 8028947 4
8 Leg 8066552 4
7 House roof, Left 8066527 1
6 Mount 90° 8043151 20
5 House roof, Right 8066526 1
4 House, Side, Right 8066524 1
3 House gable 8066523 1
2 House gable, Chimney 8066522 1
1 House, Side, Left 8066525 1

HB AA 2023-03-23 3

MASW62643
 1 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

La Casita
HAGS



1

8

3

10

7

2

?

16

4

13
14

15

9

19

17

6

2428
23

25

26

27

HB AA 2023-03-23 3

MASW62643
 2 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

La Casita
HAGS



 1,29m  
 0,10m 

 1,54m 

11

21
22

19

9

12

20

9

HB AA 2023-03-23 3

MASW62643
 3 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

La Casita
HAGS



29

2325

26
27

27
2625

23

30

18

HB AA 2023-03-23 3

MASW62643
 4 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

La Casita
HAGS


	Sheet1
	Drawing View2
	Drawing View3
	Drawing View31

	Sheet2
	Drawing View5
	Drawing View21
	Detail View J (1 : 10)
	Detail View A (1 : 10)
	Detail View B (1 : 4)

	Sheet3
	Drawing View11
	Drawing View13
	Drawing View14
	Drawing View15
	Detail View E (1 : 7)
	Detail View F (1 : 5)
	Detail View G (1 : 5)
	Detail View H (1 : 5)
	Detail View I (1 : 10)

	Sheet4
	Drawing View25
	Drawing View26
	Drawing View27
	Detail View C (1 : 7)
	Detail View D (1 : 7)
	Detail View K (1 : 7)


